
 
  RDMOTO CZECH REPUBLIC 
 2 info@rdmoto.cz 
  www.rdmoto.cz 

 
 

1 

H66SD 
Honda CBR1000RR 2020- 

 

 
         Kit for left side         Kit for right side 

          

ID. Description Cat.No. Pc  ID. Description Cat.No. Pc  

1 Adapter SLD 537 1  1 Adapter SLD 537 1  

2 Bolt M12x100x1,25mm 911 1  2 Bolt M12x85x1,25mm 899 1  

3 Dural. roller l=35,5mm 1394 1  3 Dural. roller l=17mm 1359 1  

4 Dural. roller l=15mm 149 1  4 Dural. roller l=15mm 149 1  

5 Bolt M8x25mm 815 2  5 Bolt M8x25mm 815 2  

6 Washer M8 802 2  6 Washer M8 802 2  

          

         

Assembly: 
 

Install the left and right sliders into the mount according to the photos 
attached below. 

 

Slide duralumin adapters under slider ID.1 with duralumin rollers ID.4 and 
ID.3 on both screws - for the left side with a length of 35.5mm and for the 

right side with a length of 17mm. 
 

Install this assembly into the motorcycle frame on the left side and then on 
the right side. 

 

Take the SLD sliders and M8x25mm ID.5 bolts with M8 ID.6 washers and fit 

them into the duralumin adapters on the bike. 
 

Warning - we recommend using medium-strength (blue) locking glue 
on the threads of all screws. 
 

 

 

 



 
  RDMOTO CZECH REPUBLIC 
 2 info@rdmoto.cz 
  www.rdmoto.cz 

 
 

2 

 
 

 

 

Slider + adapter under slider ID.1 + bolt 

M12x100x1,25mm ID.2 (for the right side 

M12x85x1,25mm) + dural.roller l=15mm 

ID.4 + dural.roller l=35,5mm ID.3 (for the 

right side l=17mm) + bolts M8x25mm ID.5 + 

washers M8 ID.6 

 


